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TOORUVS Y ORFFE

Macroeconomics and Microeconomics

(HAGERIBE L) (Japanese Version)
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Demand: P =100 - Q
Supply: P=Q
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(JFERIE L) (English Version)

Answer the following two questions, Question I and Question II.

Question I. Answer all the following questions.

1. Derive the IS curve and the LM curve in the following steps.
(1) Derive the IS curve by drawing the Keynesian Cross and the
Investment Function.
(2) Derive the LM curve by drawing the market for real money balance,

1.e., the supply curve and the demand curve for real money.

2. Explain why any expansionary fiscal policies cause the fall in net exports
under floating exchange rates in the Mundell-Fleming model.

Question II. Solve all the problems below. You must show your work to
receive credits.
1. Suppose that the market for whiskey can be described by the following
equations:
Demand: P =100 — Q
Supply: P=Q
(1) Draw demand and supply into a diagram, and obtain the equilibrium
price.
(2) Suppose a specific whiskey sales tax of $25 is imposed.
1) Illustrate its impact in the diagram shown in (1).
2) Calculate its impact on the equilibrium price and quantity.
3) Calculate the change in social welfare.
(3) Now, suppose an ad valorem whiskey sales tax of 50% is imposed,
instead of the specific tax. Compare its impacts: namely,
1) Illustrate its impact in the diagram shown in (1).
2) Calculate its impact on prices and quantities.
3) Calculate the change in social welfare.
(4) Explain which tax regimes make the government collect higher tax

revenues.



2. Suppose there are two goods, apples (A) and blueberries (B), and two
consumers, consumer 1 and consumer 2, in an exchange economy. The
consumers have the following preferences:

U1 = min{2A,, 3B4,

Uz = 2 log(As) + 3 log(Bs).
Furthermore, they have initial endowments of {w14, w1B} = {50, 50} and {w2A,
weB} = 170, 30}. Assume that transaction costs are zero, and two consumers
are allowed to trade any amount of A and B at any price. Calculate the

equilibrium price ratio.
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Political Economy

(B AGERIBE L) (Japanese Version)
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(B C) (English Version)
Answer the following two questions, Question I and Question II.

Question I.  Explain what differential rent on land is and why it arises.
Compare differential rent on land and surplus profit (superprofits) on new

techniques.

Question II. Examine whether “three functions of money” should be
developed as the following ordering: (1) money as the measure of value, (2)
money as the means of circulation, and (3) money as money. It will not be

questioned whether you agree or disagree with the ordering.
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Economic Thought

(A AFERBESL) (Japanese Version)
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(FLFERIESC) (English Version)

Answer the following two questions, Question I and QuestionII.

Question I . Explain the characteristics of David Ricardo’s economic

doctrine.

QuestionIl. Discuss J.K. Galbraith’s contributions in economic thought.
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Management and Business Administration

(AAFEMBESC) (Japanese Version)
M T, BIEIO O GITHRE LS.

FRE 1. REHNE & L OHSNETORBRRIZ OV THB L S0,
MEID. ~ MY 7 AflfkE 7o X7 b~ —T v HllcoONT, BAREIAZ 2072
DOt L S u,

(FEEMESC) (English Version)

Answer the following two questions, Question I and QuestionIl.

Question I . Explain the relationship between corporate strategy and

corporate social responsibility.

Question II. Explain matrix organization structure and product manager

system with some cases.
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Accounting

(A AFEMBESC) (Japanese Version)
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(FEEME L)  (English Version)

Answer the following two questions, Question I and QuestionlIl.

Question I . Explain the meaning, the calculation, and the presentation of

comprehensive income.

QuestionII. Explain the difference between return on investment (ROI) and

residual income (RI).
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Operations Research
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Answer the following two questions, Question I and QuestionIl.

Question I. Answer the following all questions.
1. Solve the following linear programming problem (P1) using the simplex
method.
(P1) min x, —2x, —7x,
subject to :
3x, +x, +3x;, <30
X, —x, —4x; 2-10

X, Xy, %, 20

2. Transform the following problem (P2) into an equivalent linear
programming formulation.
(P2) min x, —2x, —7x,
subject to :
3x, +x, +3x;,<30

|x, —x, —4x; [<10

3. Transform the following problem (P3) into an equivalent linear
programming formulation.
(P3) min |x, —2x, = 7x; |
subject to :
3x, +x, +3x;, <30

X, —x, —4x; 2-10

Question II.  Denote the price of European call option by ¢ and the price of
European put option by p where their maturity dates are denoted by T

and their exercise prices are denoted by K. Assume risk-free interest

rate ris constant. Answer the following two questions.
1. Derive the put-call parity between p and c.

2. Show a numerical example of risk-neutral valuation for call option ¢ by

using one step binomial tree.
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